In Fig. 28-37,a charged
particle moves into a region of
uniform magnetic field B, goes
through half a circle, and then
exits that region. The particle
is either a proton or an elec-
tron (you must decide which). It spends 130 ns in the region.
(a) What is the ma nitude of B? (b) If the particle is sent back
through the magnetic field (along the same initial path) but

. with 2.00 times its previous kinetic energy, how much time
< does it spend in the field during this trip?

Fig. 28-37 Problem 24.
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(¢35 A 13.0 g wire of length
L = 62.0 cm is suspended by
a pair of flexible leads in a uni-
form magnetic field of magni-
tude 0.440 T (Fig. 28-40). What
are the (a) magnitude and (b)
direction (left or right) of the
current required to remove
the tension in the supporting
leads? uw ‘ Fig. 28-40 Problem 35.
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sec. 28-9 Torque on a Current Loop
Figure 28-41 shows a rec-

tangular 20-turn coil of wire, of
dimensions 10 cm by 5.0 cm. It
carries a current of 0.10 A and
is hinged along one long side.
It is mounted in the xy plane,
;w at angle 6 = 30° to the direc-
tion of a uniform magnetic
field of magnitude 0.50 T. In
unit-vector notation, what is

the torque acting on the coil ~ Fig. 28-41 Problem 39
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